
     The value of               . From ones to ten thousands 

 

                        “Please log in to www.letsshareknowledge.com for more worksheets" 

 

 

Worksheet 6: Provide the correct inequality sign. 

 

 

2. 56 _ 501. 0 _ -20

3. -90 _ -80
4. -40 __ 0 

6. (-9 x -8) ___ 
1505. (-4 x 1) 

_ 4

8. 1 _ 0  
9. (-20 x 20 ) __ 400

10. -40 __ ( -10  x 40 )

7. (-8 + 7) __ 15

12. -5 __ +5

11. 34 __-41     

14. 0  ___ +12
13. -125 _ -10

15. (-60 + -40) ____ 100

Challenge

π  ___  0
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Answer Key: 

Worksheet No. 6 

1. >                    2. >                      3. <                4. <                5. < 

  6. <                   7. <                      8. >                9. <             10. = 

        11. >                     12. <                    13. <               14. <             15. < 

   16. > 

 

 

 


